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(= #) (%) (= ) (%)
TEDS10.1 TEDS11.0
T 5,743 15.0% 3,090 12.3%
# B 3,943 10.3% 3,475 13.9%
@47 28,624 74.7% 18,498 73.8%
kA 38,310 100.0% 25,063 100.0%
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(= ) (%) (=¥§) (%)
TEDS10.1 TEDS11.0
2k 3,665 21.4% 1,971 19.2%
# B 2,839 16.6% 2,379 23.2%
AT 10,633 62.0% 5,905 57.6%
B3 17,136 100.0% 10,254 100.0%
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(= ) (%) (=¥§) (%)
TEDS10.1 TEDS11.0
2k 2,759 35.8% 1,486 30.2%
# B 2,280 29.6% 1,884 38.2%
AT 2,675 34.7% 1,558 31.6%
B3t 7,714 100.0% 4,927 100.0%
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SOx

%P Pz g A g AR
(2 o) (%) (2 o) (%)
TEDS10.1 TEDS11.0
H T 19,431 83.2% 11,234 90.3%
# & 3,477 14.9% 970 7.8%
% o 449 1.9% 239 1.9%
B3 23,357 100.0% 12,444 100.0%
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NOx

7P Bz F oA Pz oA
(= f) (%) (=) (%)
TEDS10.1 TEDS11.0
H T 28,567 53.0% 15,604 44.2%
# & 24,114 44.7% 18,898 53.5%
% o 1,254 2.3% 800 2.3%
i 53,935 100.0% 35,302 100.0%
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(=+) (%) (=) (%)
TEDS10.1 TEDS11.0
CES 23,405 37.3% 20,270 34.9%
# & 13,147 21.0% 11,735 20.2%
% Ty 26,142 41.7% 26,105 44.9%
et 62,694 100.0% 58,111 100.0%
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CO

7P Bz F oA Pz oA
(= f) (%) (=) (%)
TEDS10.1 TEDS11.0
H T 15,461 25.9% 19,643 36.3%
# & 39,187 65.7% 32,785 60.6%
% o 4,983 8.4% 1,628 3.0%
i 59,630 100.0% 54,056 100.0%
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Pb

7P Bz F oA Pz oA
(= f) (%) (=) (%)
TEDS10.1 TEDS11.0
H T 37 93.0% 2 44.1%
# & 2 6.1% 2 55.2%
% o 0 0.9% 0 0.7%
i 39 100.0% 4 100.0%
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